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Math 098 And what are these fluxions? The velocities of evanescent
increments? They are neither finite quantities, nor quantities
No work = ne credit infinitely smali, nor yet nothing. May we not call them ghosts
of departed quantities?

No Symbolic Calculators
;(p‘g ‘{Q\(} < % go5 { ‘.?_%7 g j {90‘5 [\ ¢6D George Berkeley (1685 - 1753)

Irish Philosopher

"2...,5’&:, $j$ /—2“!},&?

Warm-ups (1 pt each): o = | 2=

1.) (1 pt) According to Berkeley (see above), how much conf:dence should we place in fluxions?

pok mich . they're JsT ahots

2.} (2 pts) Simplify a? - af

YA S
Y Ty "

Result:

401 D
% AL

3.) (2 pts) Rewrite 3y with rational exponents

Result: "'ﬁ
W

48x"®
4.) {2 pts} Simplify 3 —:; completely
Y

452273 EXa

Result; Lﬁ

5.) (2 pts) Simplify v5x v/10x°

Result: 5?( © \/E::
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6.) (2 pts) Rewrite using only positive, rational exponents

Result:

7.) (2 pts} Multiply and simplify (3«[5—+ﬁ)(\/§—~4ﬁ)

= 15 ~ 237 e Jor - 0p

Result: ™~ 63 - H\[i;:

8.} (2 pts) Simplify \/108x°1* completely

0% = H&-3

Result: ’(“ ?{ L’F’ “. g ><

, 0]
9.) (2 pts) Simplify 6%-{- /40 completely
_ . . y—;‘- ‘ if“"
I35+ §.1d 1SN § 4 2%
. : 9
“0 = §. ' .
S g Result: Q*D S‘
10.) {2 pts) Simplif 21)&}/3 completel
. p piny \[5‘; P Y
| [2ixcs
:;"‘ ”““-g'm
7 ~ '
< Result: % K 1’5:

e
il

4
ol
3

q

11.} {2 pts) Rationalize the denominator:

Result: 3
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‘Z‘"\J’;

2~
—

= ) wﬁ Result: 1 - ’\}}:

i
12.) (2 pts) Rationalize the denominator: —mger &
) {2 pts) I

oy,
e,

13.) {4 pts) Determine algebraically the domain of the function f {x}=4—+/x+2. Then use the graph
to find the range. Sketch the graph in the box to justify your range.

X+1 > 0

X oy =2

Graph

Domain: 6\2 ! M‘}

Range: (- -ad 1 Lf-}

14.) (2 pts} Simplify (2+3i)—(4+5i). Write your answer in standard form.

= '?;."3"3‘5«- 4-5¢

Result: - 2 . nzi:

15.) (2 pts) Simplify (2+3i)(4+5i). Write your answer in standard form.

- £l 9 .r’,..!ﬂzn

- %/ pf-j@@g.%i’"?;(,)% {6 ¢

b -
-1s Result: -1+ W

2431
16.} {2 pts) Simplify 4—; Write your answer in standard form.
+ 3

AT TR O SV Oy | Y (T

et

Yrs A5 6 - 2%t 23 2
2.3 4+ 20 Result: 4 1 Sy

%

R
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17.) {5 pts) Solve Jv+4+6=7

= M=

= tﬁ =3 | '
_ R 3
| &Lé_‘g‘ﬁw l/ Result: L}

18.} (5 pts) SpEve x=x—1+3
" = ;
3 (x-3)= Wx-1)"

IR B RV

=D X - Fx 4+10=0
= (‘X«ﬂ(k/z)%ﬁ

@ )(f;,:g Cpﬁv %X Result: x = ?
b ) .2
19.) (# pts) SolveQ/éx—l— 7)=d_+ V3x+3 ‘BL

D Lx+F= | 42Bxt 3 42
5 B+ ) b Vixs )
2 IxT iy -3 - o

et

J 3

T

T 2xTLaLx—-1=0 —— 7

Result:
B3 (-1 xs1)=0
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